CBT CLASS VI

D

ECEMBER 2023

ANSWER KEY AND FEEDBACK

SUBJECT - MATHEMATICS

SYLLABUS-
(DATA HANDLING)

Read the Source/Text

given below and answer the questions (Q1 to 5 ):

Six friends went to market and bought the following number of crackers for Diwali

Name of Friends

Z

umber of crackers | 0 -5 Crackers

Rohit

SE E
Mahi TE T EEEE
Naresh PE S ETEFTERS
Riya B o art
Atul SWE SRE ILFE IF

Observe the pictograph an

o

answer the following questions:

QN QUESTION OPTIONS PROVIDED COR EXPLANATION
0. RECT
OPTI
ON
1. How many crackers bought by A. 20 B FEEDBACK-
Riya? B. 15 5x3=15
C. 30
D. 10
2.. Who bought 10 crackers? a. Riya c FEEDBACK-
b. Mahi 2x5=10
c. Rohit
d. Atul




Who bought maximum number a FEEDBACK-
of crackers? a. Naresh Naresh has 5 stars.
b. Atul
c. Riya
d. Mahi
Who bought minimum number d FEEDBACK- Rohit
of crackers? a. Naresh bought only 10
b. Atul crackers.
c. Riya
d. Rohit
Who bought the same number a. (a) Naresh and Atul b FEEDBACK- Atul
of crackers? b. (b) Atul and Mahi and Mahi bought
c. (c) Riya and Mahi the same number

Read the Source/Text given below and answer the questions (Q6 t010 ):
Rakesh plays a ludo game and threw a dice 20 times and noted the number

appearing each time as shown below:

Number | Tally mark | Number of
Times
1 i 4
2 | 1
3 | 1
4 1 <
5 M| 6
6 Ll 4
Find the number that appeared a. 1 b FEEDBACK-2
the minimum number of times: b. 2 appears the
c. 5 minimum number
d. 6 of times:
Find the number that appeared c FEEDBACK- 5
the maximum number of times: a. 4 appeared the
b. 3 maximum number
c. 5 of times:
d. 2
Find those numbers that a FEEDBACK- 2 and
appear an equal number of a. (a) 2and 3 3 appear an equal
times ? b. (b)3and 4 number of times




c. (c)5and6

(d)4 and 5

9. Find the count when even a. 5 FEEDBACK- even

number turned up b. 9 number turned up
c. 10 9 times
d. 8
10. Find the count when odd FEEDBACK odd
number turned up a. 7 number turned up
b. 2 at 11
c. 5
d M1
SOCIAL SCIENCE

1. MAJOR DOMAINS OF THE EARTH

2. FROM KINGDOM TO AN EMPIRE

3. URBAN ADMINISTRATIONS)

1. . The largest continent on the A. North America3aY FEEDBACK- The
Earth is /q2dT 9 §ad &3T AR largest continent
:Hma—qﬁtr% Africa3ThienT on the Earth is

C. Asia UfQ\TClT Asia.
D. Europeg{d
12. A. Australia3iteeforar FEEDBACK-
12. The South Pole lies almost B. Antarctica3ierfcanr silanferen gfatol ga
at the centre of — C. Atlantic IaATT H aa#ﬁm
Ocean3fcdifee AGEARR AgcdId W FUAE,
AR §Id ST SHSb hg H D. Pacific Ocean 92rd gTellteh HgTeaTdg
g > HAEERR S8Td & SHROT g2y
& W sidgrd ¥ o
E g3 |

13 A. South America. gfayoT FEEDBACK-

13. ltis also known as the AR Australia is known
island continent —/ B. Europe/Zld as the island
C. Africa/3Thrar continent

SH Ueh gdIdIg Agledq #T el
ST g -

D. Australia/3iTeforar




14.

. People who own houses in
cities have to pay —

IR & IEEATTALT T 3T Al
UST & -

A. Income Tax/ 31T &
B. Land Tax81f& &

C. Property Tax@ufd &%
D. General TaxdTHAT

hI

FEEDBACK-
People who own
houses in cities
have to pay
Property Tax

15. FEEDBACK- The
The member of the municipal A. Councilor/dT¥¢ member of the
corporation is known as — - municipal

s B. MLA corporation is
o1 1 TETT FgATaT g -
W avsi e C. Instructoryf1aTe known as
Councilor/
D. Professordithax

16. A. Metropolitan FEEDBACK- The
The municipal council is CitiesHgITIR municipal council
established in the — B. Small Towns®I¢ IR is established in

. C. Villagesad the Small Towns
AR IRE 37 TUTAT ) T D. Big Citiesss IR
T ST & -

17. A. BindusarTde FEEDBACK- The
The founder of the Mauryan B. Chandragupta founder of the
Empire was — Mauryadiga[ed #HId Mauryan Empire

. C. Ashoka3feit was Chandragupta
AT g TS & JEATH & - D. Maurya
Samudraguptad#gaTcd
18. A. Patliputragrefergs FEEDBACK- HIT

The Capital City of the Mauryan
Empire was —

AR graTT Y T oY -

B. SarnathHR?ITQTQ
C. Taxilaafeyerm
D. Ujjain3soiel

TS Sl
JSTTAT
CICLEE]
(3merfeten

gear) o




19. FEEDBACK-
Emperor Ashoka gave up war A. KaushambiahiemesT a Kalinga®feiar g
after the battle of — B. Lumbini?ﬂjﬁ?‘>r % 9T THIC

C. KalingashTelal 312l o JeET T
S J&H & T FAHTC 372 o D. Sanchi @rdT =TT Y T -
el ol 19T & TerT -

20. [ The book written by Chanakya A. Arthashastra3r2iemes FEEDBACK-
(Kautilya) is — B. Ramayana I#TIOT a Arthashastra is

C. MahabharatAgrHARd written by
AT (Hifeed) gan forf@d D. Charak Samhita@is Chanakya
qEAH ¢ - (Kautilya
SCIENCE
(LIGHT, SHADOWS AND REFLECTIONS )

21. Which one of the following is (a) Electric bulb b FEEDBACK- Sun is

the natural source of light? (b) Sun the natural source
(c) Tube light of light.
(d) Moon
22. |- The object which does not (a) shining mirror a FEEDBACK-
have light of its own is (b) light bulb Shining mirror
(c) star reflects the light.
(d) lighted match box
23. | Q23 - Stars are a. luminous a FEEDBACK-
b. non-luminous Luminous bodies
c. both of these have their own light
d. none of these

24. Atorchis a e. luminous a FEEDBACK-

f.  non-luminous Luminous bodies
g. both of these have their own light
h. none of these

25. |. Assertion (A): Shadow is (a) Both Aand R are true | a FEEDBACK-
always black. and R is the correct Shadow is always
Reason (R): A shadow only explanation of A. black because a
shows the outline of an object. (b) Both A and R are true shadow only

but R is not the correct
explanation of A.

(c) Ais true but R is false.
(d) A is false but R is true.

shows the outline
of an object.




26. | Assertion (A): When we look (a) Both A and R are true and R FEEDBACK- When
into the mirror, we see our own | is the correct explanation of A. we look into the
face inside the mirror. (b) Both A and R are true but R is mirror, we see our
Reason (R): Mirror is made of a | Not the correct explanation of A. own face inside
transparent substance that (c) Als true but R is false. the
allows the light to pass through (d) Als false but R is true. mirror.because
it. Mirror is made of

a transparent
substance that
allows the light to
pass through it.

27. Which types of objects do not (a) Transparent FEEDBACK-
allow light to pass through (b) Translucent Opaque objects do
them? (c) Opaque not allow light to

(d) None of these pass through them.
Example: brick
walls, human
beings.

28. | The shape of shadow depends (a) shape of the object FEEDBACK- The
upon the (b) size of the object shape of shadow

(c) size of source of light depends upon the

(d) colour of the source shape of the object

light
SHAPE & SHADOW

29. | The pinhole image of the sun is (a) circular FEEDBACK- we

(b) long can see circular

(c) sometimes long
sometime circular
(d) none of these

images of the
Sun.ie, natural
pinholes cause nice




round images of
sun.

30.

Shadow of an object is

a) dark (black)
b) blue

c) red

d) depends on the colour
of object

(
(
(
(

FEEDBACK-
Shadow of an
object is dark




